Multiply and Divide by 10* (B)

Find each product or quotient.

3.2502 x 101 = 6.1 x 101 =
252 +10'= 2.0254 - 10 =
5.8+ 10 = 5.183 x 10 =
1.336 X 10* = 9331 =10'=
2.3335 - 10 = 4.6~ 10 =
6.2137 x 101 = 95 x%x 101 =
4.0327 x 10t = 6.4 —101 =

4.4 +10'= 15 =101 =
2.5x 10! = 418 ~ 101 =
6.14 x 101 = 2.689 x 10! =
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Multiply and Divide by 10* (B) Answers

Find each product or quotient.

3.2502 x 10* = 32.502

2.52 +10'=0.252

5.8 +10'=0.58

1.336 x 10 = 13.36

2.3335 + 10 =0.23335

6.2137 x 10* = 62.137

4.0327 x 10" = 40.327

4.4 +10'=0.44

2.5x10'=25

6.14 x 10 = 61.4

6.1 x 10 =61

2.0254 = 10' = 0.20254

5.183 x 10* =51.83

9.331 +10'=0.9331

4.6 +10'=0.46

9.5 x 10' =95

6.4 + 10" = 0.64

1.5+ 10'=0.15

418 +~10'=0.418

2.689 x 10" = 26.89
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